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The combination of falling traffic and sharply rising fuel cost had, by 2006, required the Digby-Saint John
service to be subsidized by the governments of Nova Scotia, New Brunswick and Canada. Currently, the
annual operating subsidies are projected to be $1 million each from the two provinces and an undisclosed
amount from the federal government. These are to ensure operation until 2014. By then, the Princess of
Acadia will be 43 years old and forced to be retired. The question of a replacement vessel and the terms of

any required subsidy are presently under consideration by the federal and provincial governments.
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